WELCOME TO NEOMETAL FIRST ORDER GUIDE

JUST THE BASICS

For those starting small—whether you're new to threadless, have a small studio, or have lots of existing stock to sell through—this order is ideal. It includes the threadless jewelry needed for nostrils, nipples, and most ear placements...

Total Investment: \$1,085.02

STUDIO ESSENTIALS

If you're looking for a mid-sized order with a variety of gem colors and special designs alongside the basics, this order is for you. It covers the threadless jewelry required for nostrils, nipples, eyebrows, and most ear placements.

Total Investment: \$3.175.88

FULLY STOCKED STUDIO

When you're aiming to completely upgrade your studio's jewelry inventory or if you have a large or brand-new studio to stock up, this order is perfect. It contains the threadless jewelry needed for nostrils, nipples, eyebrows, and ear placements.

Total Investment: \$5,621.12

18K GOLD ORDER ADD-ONS

Add some gold to your order and make your studio really shine. Available in 18K yellow, rose, and white gold, with a stainless-steel pin.

Just the Basics: \$535.20

Studio Essentials: \$1,424.70

Fully Stocked Studio: \$1.897.50









APP VERIFIED

FIRST ORDER GUIDE JUST THE BASICS \$1,085.02

For those starting small—whether you're new to threadless, have a small studio, or have lots of existing stock to sell through—this order is ideal. It includes the threadless jewelry needed for nostrils, nipples, and most ear placements.

QTY. ITEM PRICE SUBTOTAL

PRE-PACKED KITS				
1	40-Item Prong Kit (16ga) / PRKIT16-40	\$815.52	\$815.52 *	
1	16-Item Nipple Kit (12ga) / NPKIT12-16	\$540.76	\$540.76 **	

\$1,356.28 (-\$271.26)	Subtotal 20% First Order Discount
\$1,085.02	TOTAL

^{*18}ga option available

PRE-PACKED KIT CONTENTS

(Please reference the specific online product page for complete list of contents included.)









DISPLAY

JEWELRY

LABRETS

TAPER PINS

^{**14}ga option available

FIRST ORDER GUIDE STUDIO ESSENTIALS \$3,175.88

If you're looking for a mid-sized order with a variety of gem colors and special designs alongside the basics, this order is for you. It covers the threadless jewelry required for nostrils, nipples, eyebrows, and most ear placements.

QT	Y. ITEM P	RICE	SUBTOTAL	QT	Y. ITEM	P	RICE S	SUBTOTAL
DIS	PLAYS AND PRE-PACKED K	(ITS		2	3/8" w/ Clear (C	Z)	\$9.99	\$19.98 *
1	40-Item Prong Kit (16ga)	\$815.52	\$815.52 *	4	1/4" w/ White C	pal (OW)	\$9.99	\$39.96 *
1	40-Item Bezel Kit (16ga)	\$654.96	\$654.96 *	2	5/16" w/ White	Opal (OW)	\$9.99	\$19.98 *
1	16-Item Nipple Kit (12ga)	\$540.76	\$540.76 **	2	3/8" w/ White C	pal (OW)	\$9.99	\$19.98 *
1	40-Item Prong Variety Kit	\$444.96	\$444.96	8	16ga Clear (CZ)		\$9.49	\$75.92 *
1	40-Hole Display (Black)	\$16.99	\$16.99	8	16ga White Op	al (OW)	\$9.49	\$75.92 *
1	20-Hole Display (Black)	\$11.99	\$11.99	GEO	METRIC SHAPE	ENDS		
1	16-Hole Versi Clip Display	\$21.99	\$21.99	2	3mm Bar (XBAI	R18-3)	\$6.49	\$12.98
PRII	NCESS CUT GEM ENDS (XPF	RIN18)		2	4mm Bar (XBAI	R18-4)	\$7.49	\$14.98
2	2mm Clear (CZ)	\$9.89	\$19.78	2	3mm Heart (XH	IEART18-3)	\$7.49	\$14.98
2	2.5mm Clear (CZ)	\$10.79	\$21.58	2	4mm Heart (XH	IEART18-4)	\$8.49	\$16.98
2	3mm Clear (CZ)	\$11.49	\$22.98	2	3mm Moon (XM	100N18-3)	\$7.49	\$14.98
2	4mm Clear (CZ)	\$13.49	\$26.98	2	4mm Moon (XM	100N18-4)	\$8.49	\$16.98
2	5mm Clear (CZ)	\$15.49	\$30.98	2	3mm Star (XSTE	ELLAR18-3)	\$7.49	\$14.98
2	2mm Black (BK)	\$9.89	\$19.78	2	4mm Star (XSTE	ELLAR18-3)	\$8.49	\$16.98
2	2.5mm Black (BK)	\$10.79	\$21.58	2	3mm Triangle (XTRI18-3)	\$6.49	\$12.98
2	3mm Black (BK)	\$11.49	\$22.98	2	4mm Triangle (XTRI18-4)	\$7.49	\$14.98
2	4mm Black (BK)	\$13.49	\$26.98	18 G	A LABRETS (XL	S18)		
2	5mm Black (BK)	\$15.49	\$30.98	10	1/4" - 4mm Disc	: Back	\$4.25	\$42.50
2	2mm Aurora Borealis (AB)	\$9.89	\$19.78	10	9/32" - 4mm Dis	sc Back	\$4.25	\$42.50
2	2.5mm Aurora Borealis (AB)	\$10.79	\$21.58	30	5/16" - 4mm Di	sc Back	\$4.25	\$127.50
2	3mm Aurora Borealis (AB)		\$22.98	10	3/8" - 4mm Disc	: Back	\$4.25	\$42.50
2	4mm Aurora Borealis (AB)	\$13.49	\$26.98	16 G	A LABRETS (UL	S16)		
2	5mm Aurora Borealis (AB)	\$15.49	\$30.98	10	1/4" - 4mm Disc	: Back	\$4.25	\$42.50
2	2mm Lavender (LV)	\$9.89	\$19.78	10	9/32" - 4mm Di	sc Back	\$4.25	\$42.50
2	2.5mm Lavender (LV)	\$10.79	\$21.58	30	5/16" - 4mm Dis	sc Back	\$4.25	\$127.50
2	3mm Lavender (LV)	\$11.49	\$22.98	10	3/8" - 4mm Disc	: Back	\$4.25	\$42.50
2	4mm Lavender (LV)	\$13.49	\$26.98					
2	5mm Lavender (LV)	\$15.49	\$30.98					
16 0	SA CURVED BARBELL & SID	DE GEM (X	CSG16)	Ş3	3,969.85	Subtotal		
2	1/4" w/ Clear (CZ)	\$9.99	\$19.98 *	(\$793.97)	20% First	Order Dis	count
4	5/16" w/ Clear (CZ)	\$9.99	\$39.96 *	\$	3,175.88	TOTAL		

^{*18}ga option available

^{**14}ga option available

FIRST ORDER GUIDE FULLY STOCKED STUDIO \$5,621.12

When you're aiming to completely upgrade your studio's jewelry inventory or if you have a large or brand-new studio to stock up, this order is perfect. It contains the threadless jewelry needed for nostrils, nipples, eyebrows, and ear placements.

Q	TY. ITEM	PRICE	SUBTOTAL	QTY	/. ITEM		PRICE	SUBTOTAL
DI	SPLAYS AND PRE-PACKED	O KITS		18 G	A LABRETS (XL	S18)		
1	16-Item Nipple Kit (12ga)	\$1,336.28	\$1,336.28 **	25	1/4" - 4mm Dis	c Back	\$4.25	\$106.25
1	100-Item Prong Kit (16ga)	\$1,220.40	\$1,220.40	25	9/32" - 4mm Di	sc Back	\$4.25	\$106.25
1	100-Item Princess Cut Kit	\$1,100.70	\$1,100.70	100	5/16" - 4mm Di	sc Back	\$4.25	\$425.00
1	100-Item Bezel Kit (18ga)	\$823.50	\$823.50	25	3/8" - 4mm Dis	c Back	\$4.25	\$106.25
1	40-Item Prong Variety Kit	\$444.96	\$444.96	16 G	A LABRETS (UL	S16)		
1	20-Hole Display (Black)	\$11.99	\$11.99	25	1/4" - 4mm Dis	c Back	\$4.25	\$106.25
1	16-Hole Versi Clip Display	\$21.99	\$21.99	25	9/32" - 4mm Di	sc Back	\$4.25	\$106.25
16	GA CURVED BARBELL & S	SIDE GEM (X	CSG16)	100	5/16" - 4mm Di	sc Back	\$4.25	\$425.00
2	1/4" w/ Clear (CZ)	\$9.99	\$19.98 *	25	3/8" - 4mm Dis	c Back	\$4.25	\$106.25
4	5/16" w/ Clear (CZ)	\$9.99	\$39.96 *	PIN	TAPERS			
2	3/8" w/ Clear (CZ)	\$9.99	\$19.98 *	10	2" - 50mm (16g	ga)	\$5.78	\$57.80
2	1/4" w/ White Opal (OW)	\$9.99	\$19.98 *	10	2" - 50mm (18g	ga)	\$5.78	\$57.80
4	5/16" w/ White Opal (OW)	\$9.99	\$39.96 *					
2	3/8" w/ White Opal (OW)	\$9.99	\$19.98 *					
8	16ga Clear (CZ)	\$9.49	\$75.92 *					
8	16ga White Opal (OW)	\$9.49	\$75.92 *					
GI	EOMETRIC SHAPE ENDS							
2	3mm Bar (XBAR18-3)	\$6.49	\$12.98					
2	4mm Bar (XBAR18-4)	\$7.49	\$14.98					
2	3mm Heart (XHEART18-3)		\$14.98					
2	4mm Heart (XHEART18-4)		\$16.98					
2	3mm Moon (XMOON18-3)		\$14.98					
2	4mm Moon (XMOON18-4)	1	\$16.98					
2	3mm Star (XSTELLAR18-3)		\$14.98	Ġ7	7,026.40	Subtot	al	
2	4mm Star (XSTELLAR18-4)		\$16.98					innermat
2	3mm Triangle (XTRI18-3)		\$12.98		\$1,405.28)		rst Order D	iscount
2	4mm Triangle (XTRI18-4)	\$7.49	\$14.98	S:	5.621.12	TOTAL	_	

^{*18}ga option available

^{**14}ga option available

FIRST ORDER GUIDE 18K GOLD ADD-ONS \$535.20-\$1,897.50

Add some gold to your order and make your studio really shine. Available in 18K yellow, rose, and white gold, with a stainless-steel pin.

JUST THE BASICS

QTY.	ITEM	PRICE	SUBTOTAL
BRILLIA	ANT CUT PRONG END	S - YELLOW	GOLD (GYXPR)
4	2mm Clear (CZ)	\$30.89	\$123.56
4	2.5mm Clear (CZ)	\$32.49	\$129.96
2	3mm Clear (CZ)	\$40.59	\$81.18
PRINCE	SS CUT PRONG ENDS	S - YELLOW	GOLD (GYXPRIN)
4	2mm Clear (CZ)	\$28.49	\$113.96
4	2.5mm Clear (CZ)	\$33.59	\$134.36
2	3mm Clear (CZ)	\$42.99	\$85.98

\$669.00	Subtotal
(-\$133.80)	20% First Order Discount
\$535.20	TOTAL

STUDIO ESSENTIALS

Q1	Y. ITEM	PRICE	SUBTOTAL
PR	E-PACKED KITS - YELLOV	V GOLD	
1	20-item Geo Shapes Kit	\$641.59	\$641.59
1	20-item Prong Kit	\$804.99	\$804.99
PR	INCESS CUT PRONG ENDS	- YELLOW G	GOLD (GYXPRIN)
4	2mm Clear (CZ)	\$28.49	\$113.96
4	2.5mm Clear (CZ)	\$33.59	\$134.36
2	3mm Clear (CZ)	\$42.99	\$85.98

\$1,780.88	Subtotal
(-\$356.18)	20% First Order Discount
\$1,424.70	TOTAL

FULLY STOCKED STUDIO

Q1	TY. ITEM	PRICE	SUBTOTAL
PR	E-PACKED KITS - YELLOV	W GOLD	
1	20-item Geo Shapes Kit	\$641.59	\$641.59
1	20-item Prong Kit	\$804.99	\$804.99
PR	INCESS CUT PRONG ENDS	- YELLOW (GOLD (GYXPRIN)
4	2mm Clear (CZ)	\$28.49	\$113.96
4	2.5mm Clear (CZ)	\$33.59	\$134.36
2	3mm Clear (CZ)	\$42.99	\$85.98
FO	RTE ENDS - YELLOW GOL	D (CYFORTE)	
2	2mm Clear (CZ)	\$66.79	\$133.58
AR	REO ENDS - YELLOW GOLD	(GYAREO)	
2	1.5mm Clear (CZ)	\$19.89	\$39.78
2	2mm Clear (CZ)	\$32.49	\$64.98
1	2.5mm Clear (CZ)	\$49.99	\$49.99
DE	CO ENDS - YELLOW GOLD	(GYDECO)	
1	Cubic Zirconia (CZ)	\$139.49	\$139.49
KU	MO ENDS - YELLOW GOLE	(GYKUMO)	
2	2mm Clear (CZ)	\$39.59	\$79.18
1	3mm White Opal (OW)	\$83.99	\$83.99

\$1,897.50	TOTAL
(-\$474.37)	20% First Order Discount
\$2,3/1.8/	Subtotal